Hi=: =
EQEIp BRA A A L
Byl 84,400 84,400
T i % o 612 612
TR eRL Y 3 500 2,000
B %) 4n 7 sxd 13,800-27,600 13,800-27,600
ERETE S B S 14,000 14,000
a 0 ¥ ¥ £16,200:6
' 2 47 75 £ 25,800-42,000587
R 6,000 6,000
4 E T 9 80,000 80,000
i P 9 12,960 2,160
&3+ 212,272-226,072 229,972-269,572
Il Frey o nIRFERFRFRFIRELE
A2 T X gy MI2FER AR %‘pﬁ—— R S a‘rufzn’r?ﬁﬂ#ﬁ“i
3 TR RBEAG CEFFHOFLI, 000’»’//'1%_250’»
A EApER Al A%ﬁﬁlb’ 800~ ~ @iz & £#H6,900~ ~:FEB=FH6, 900~
SR EG A EF LAY B H T 2 H 214,000~
A6 HEEmEF 4§ﬁﬂ8, 100~
T A 4Fm e e A0 124-4103,200~ 5 24-B 12,700~ ; 25-A: 3,500~ ; 25-B : 3,000~ ;
§£=-4:2,150~
A8 E MY MII2FERTY AR A% A b
9 A EF MI2FERTY PFEG A% A b

2210 : Qg'gy VISP U JEA RS} l’f’f&*&iﬁf‘éfﬁi&-é}_ﬁ BB EE b A 216X 0 A4k R36=



